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- Zalt| 120,008 * 19 « 128 1,440
-dxREeY 33,0008 * 1% * 152 495
- N2y
33,00021/8 * 1.5 * 12§ = 25AI2t = 12 1,857
S ] 50,0008 + 122 600
- YRS 10,0008 * 23] 200
203 PRETY| 4,200 4,200 0
04 ENSYYLET| 4,200 4,200 0
ORMEgYRETY| 350,0008 * 122 4,200
204 XA AY| 1,200 1,200 0
01 =2Z P4 1,200 1,200 0
OXHUZ YR FXY| 10,0008 * 128 1,200
o122l 95,400 91,600 3,800
122l 95,400 91,600 3,800
201 Lereoy| 42,600 43,600 A 1,000
01 At2z2l| 33,000 34,000 A 1,000
OAt2 22| 19,000
—JIBAREE Y| 9,000
- JIEt 2| 4,500
—AFRIID A2E 3Y 2 Lol 3,000
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SA: 22
Y HH2HAHI (2 HD)
&2l Jl=3Hl (el &)
_ B} _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
-=SAEX 7Y 25,0008 * 1004 Xt 2,500
O3z 14,000
-0t & SL22X SAHI 14,000
02 SS2gH 9,600 9,600 0
O=32gH 9,600
— U ANSH ZHBAIZEX L EZ 3R
2(HI, =523, M3LIJLHAEBES)
800,000 * 128 9,600
202 ol 52,800 48,000 4,800
01 ZLHOIHI 52,800 48,000 4,800
O=WHHYI 52,800
—UBE JI2YR =AML
220,0009 * 20 » 128 52,800
MPES(23 D) 2,097,000 0 2,097,000
RSN 2,097,000 0 2,097,000
S5 20k BEH X3 gt 2,097,000 0 2,097,000
802 Etet=JIEt 2,097,000 0 2,097,000
01 TNEXIoa= 1,741,000 0 1,741,000
OC2010E 2 |2 NEX2 a2 (sisHEa HE
) 1,741,000
02 Al - SHIEZ3BE3 356,000 0 356,000
O2010E 2 THIBZZ2 a2 (sisHEa HE
) 356,000
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